SM2H 5.4 answers a=9
. b=7
1. ;Z:GJEter. 0, 0) =42
Vertices: (0,9) & (0,-9)
b=3 )
=7 Foci: (0,4+/2) & (0,-4+/2)

y
Vertices: (0,4) & (0,-4) e

Foci: (0,4/7) & (0,—/7)
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2. Center: (0, 0)
a=8 6.
b=5
c=v39 7.
Vertices: (-8.0) & (8,0)

Foci: (—/39,0) & (+/39,0) Xy
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W EEEEEE! 9. Center: (3,-2)

e a=4
ghssea un X b=2
c=2/3
Vertices: (3,2) & (3,-6)
Foci: (3,—2+2+/3) &(3,-2-2/3)
3. Center: (0, 0) y
a=3 e
b=2 i ( |
c=V5 Ll i
Vertices: (-3,0) & (3,0) SESEEamsE S tamy smms
Foci: (?/5,0)&(«/5,0) SEEsian H

19

NSNS S
N T

y
| AT P T
1O

'l

X

14
o

10. Center: (-3,-1)
:::; f ) X a=>
g 5\"J<1 b=3
T c=4

B A Vertices: (2,-1) & (-8,-1)
4. Center: (0, 0) Foci: (1,-1) &(-7,-1)
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. Center: (3,-2)
a=6
b=3
c=3V3

Vertices: (9,-2) & (-3,-2)
Foci: (3+3+3,-2) & (3-33,-2)
Y

. Center: (-1,-2)
a=4
b=2
c=2v/3
Vertices: (-1,2) & (-1,-6)
Foci: (-1, —2+2/3) & (-1,—2—2/3)
Y

|
=
B e 1
—
>

(><—3)2+(y+2)2 1
9 25
(x+1)° +(y—2)2 _1
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(><—5)2+(y—2)2 1
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21. H
22. E
23. P



